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8.2     1) 

Πρέπει το σημείο Α να επαληθεύει την εξίσωση της ε. Επομένως 

   3 2 1 1 0 3 6 1 1 0 2 6 3                 

8.2     2) 

   3 2 3 6 0 2 6 3 6 0 3 15 5                    

8.2     3) 

     1 2 2 1 1 1 0 2 2 2 1 1 0 0 0                  που ισχύει 

Άρα     για κάθε  R  

8.2     4) 

   2 3 3 2 6 0 6 2 3 6 6 0 6                

8.2     5) 

   3 1 2 3 1 2 0 3 3 6 2 2 0 3 3 1                  

8.2     6) 

    22 4 1 3 1 0 2 4 3 1 0               
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            

 

 

 


